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1. Let
f(2) V2—1x if ¢ < 2,
T =
2?4+ k(x+1) ifz>2

Determine the value of k for which lim f(z) exists.
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exact problem 64. Section 10.2
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simmilar to problem 25. Section 10.2
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3. If a,b > 0 and the function
‘ e ifr < -3
f(z) = =*
br+1 ifz> -3

1s continuous at x = —3, then va + 27b =

'similar to problem 34. Section 10.3

) Vo Conhwvovs ab n=-3 & X\m‘?(x) -¥63)

b) 1 £ea) = b - 3hy

((S;Z m $og = A (bxar) = 3
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4. The curve of f(z) = 2° — 62 + 122 + 12 has
'Luimilzu' to problem 35. Section 11.1
the Curve of P& Was
horiZzented| ass (~emg ek ot e

(b) one vertical tangent line When ‘E (XX <

(c) three horizontal tangent lines ‘-?/(X\ - & yLymxsVe
)
)

(a)\ one horizontal tangent line

(d) two horizontal tangent lines I\ X4\1L=©

(e) two vertical tangent lines "
X -Ux+4 =0
=
(X-1y =
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similar to problem 64. Section 10.1
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6. The average cost ¢ for producing ¢ units of a product is ¢ = 0.4g +4 + —. The
q
marginal cost when producing one unit is

‘similar to problem 32 and problems 19-22. Section 11.3
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(d) 4.1 - 47’ T CL +C]
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5 :
7. If the demand function for a product is p(q) = 313, then the marginal-revenue
when g =1 is
Lsh'nilar to problem 62. Section 11.4 vevenue = Pc;
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8. The relative rate of change of y = 222 4+ 5 at z = 10 is
[oxa,(tt problem 35. Section 11.3}
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9. If the demand equation is p = 100 + aq + bg* for some real numbers a and b such

that
dg _ {1 if ¢=0,
dp % if q:%.
Then, a + b =

1similar to problems 31-34. Section 12.4

P = \oow -\—nyi- bcfl

(a) 2 ol

-(b)o +q\<e_c].§_—:>

(c) -2 %\T v 2bq °H~

q —1

(¢) 5 Sy odd Ly = 1= O b EY)
ot =y dE = &) +2b Q)

L =5 ]

aArb =1
10. A consumption function is given by

2(3\/ﬁ+ 2)

I+ 16

The marginal propensity to save when [ =4 1s
[similar to example 9. Section 11.4
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11. dc—lc<1:ln:1: — 7) =

lexact problem 11. Section 12.1

(L) -1

Vi An X

b Inz

T
\c 2—|—11173 n

) —

)
(d) rlnx
(e) Inz — 2

12. The derivative of y = el VT 4 52t g , *['—Z,
[Lr()x;),ct problem 15419, Section 12.2 Y= (“r> S (’J (ZX}) \n5

(b) Vze™V® 4+ (228 — 1)52’ In5
(c) VzeV® + (22° — 1)5% 1 1n5

eVe :
(d) 2f + (62%)5% ln5
eltve 522° -1
(€) 2y/m + (62" ~ D Inb
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13. If (1 4+ €*)? = 3+ In(x + y), then (0, 1) =
exact problem 23. Section 12.1

2 (l+€ ) e S ?>1-—‘Lﬂ

(a) 11 A4y
Xy 3 ; ¢
o [6 (11€) €™+ J o) -1 =9
(d) 9 oA o 14
(e) 8 o
3/ _ (é (\+e)6é> CL‘) -
_ \G (D) & -\
_\LA =\

14. If y = 20 + 3u? + bu — 1 and u = 3z + 1, then for z = 0, dy/dx =
exact problem 8. Section 11.5

_ 0\1‘5 _ oy du
(a) 51 \ qL AKX
(b) 41 - (6ut+ ruan)(3)
(c) 62 |
(d) 71 ab X =0 = U\
e) 17 (}\5 = U# (3\ &= \_3-\
(¢) =X \ (&
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15. The slope of the curve y = (22 — 72 — 8)* at the point=&=6) equal to
}exact problem 57. Section 11.51 X=3

() 0] g - (x-1x-8)" (w-7)

(b) 1 at x=%
(c) =1 T .

‘- 3 (64-%56-3) (l6-7
(d) -7 ) 5 ( — )
(e) o0 B
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